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DQ—002—001212 Seat No.
B. Com. (Sem. II) (CBCS) Examination
April / May - 2015
Accountancy & Fianance : Paper - II
(Ele-I)

Faculty Code : 002
Subject Code : 001212

Time : 2% Hours] [Total Marks : 70

YA : (1) &35 uandsl wdlel Yoo Guradlul % wiudl-dl W84,
(2) &35 madel oL waddl amell oy sulda O,
(3) %33l aiddl wqlet-ll M3y B,

(4)  wad 140 20 alglisadl usdl 2 635 Usd s B,

1 A sutal usdl de sna [sadmil ARl Risew Yoo GaradlHi 20

auil

(1) sull 34 slal 3 sl % el 24 sladl 34 Bulasll 34
sl % el €l vt sl 34l 3. 1,20,000 €14 dl 2181l
e 44l 3edl sQ ?

A) 3. 2,40,000 B) 3. 3,60,000

(C) 3. 4,80,000 @) 3. 6,00,000

DQ-002-001212 ] 1 [ Contd...



@) Adgl, Aollasi, s @A A Ad il Bl $8 ugliat

A B 7
A) sy gl B) el vgli
C) As ugla D) M uglt

) Aldl WAl 21206 HolE sHHIYL 8l ayd s 2419 dl g 2wy

ufl ?

(A) ALl A vid 6. Al vud
B) &l vud 6. d AAldl 23 vid
(C) 65 vud 6. d 8l vud

D) sl vud 6. d 65 vid

@ s Ala vl wyel WA 42 3. 5,000 Hod d-l dud e

AUl 2Ad S dl g wuH-Y A 7

A) 65 vd 6. 5000 d x{la Ay vid 5,000

B) 65 vid G. 5000 d {ldl-l UYL WA Hid 5,000

(C) flal-l yyReL WA vid 6. 5000 d 65 ld 5,000

D) {la 2§3a1=3 vid 6. 5,000 o AA{lell uYRL WA vid 5,000

(B) "l Asl Al 2 2+ sl wUsH 3. 1,000 w4 3. 1,600
Q11 AHy Al e 3. 10,000+ 54 Yoy 2AGA WAl Hoa &y

dl wryRel vl wn sed] ?
(A) 3. 7,400 B) 3. 8,400

(C) 3. 9,400 O 3. 10,400
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6) Al Hsdd M@ g ot sl dslad-l W sUL viid MMl
19 €9 7
(A AuiR Mid GUIR B) AuR ld %HL
(C) yeu A vid 24l D) sdlslRL vid
(7 weke qadl saial i s 043 adl Yl ?
A) Yy Y
B)  wrl A
(C) ol A3 Ay
D) o=i-ll A3 adl Yl

(8) -l U3 €1$ 3. 50,000; AAd Hid-l Y3dR 3. 2,50,000 i 2UMR

R1s 3. 75,000 €11 dl yeu A HAa Ha-dl Bua 2l
(A 3. 2,25,000 B) 3. 2,75,000
©) 3. 3,25,000 D) 3. 3,75,000

@) olitsiell uddul HaAM 2 Hyd MLl 5:3 A 1Rl qul

(R vl wHiLL 5:3. €14 dl UsdRll AR B2sls] AYSd uHILL 324 ?
A 9:15:25 B 15:9:25
©) 25:15:9 D 5:3:9

(10) Yet:Reusl viid ol sl 2idd dstdd-l W4 s4L vild 4 sl

w1 & 7
@A) Hd wal vid B) usydl vud
(C) AuiR vud D) “slsAl vild
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(11) %=l MlaAMIA AAdl siasiHl auiadl dlid €1 dl 2y g 249 ?
(A)  Adleligsd vid 6. d yel: @YHL vid
B) Yt @Al vid 6. d AdlMasd vid
(C) H8ydl Mid 6. d Y-yl vid
D) 6ivs vd 6. d «dl Masa vud
(12) %l Masa-dl adl Bxa vied
A ol Boa + yd wad
B) %l Bud + AAdl Bua
(C) ol BHd + @i i 1Rl wAui 23a aqiRl
D) uHidl s y.L A€l

(13) daMi v ay €11 i RER duas-l asddl 20l . R susll

sl usiRed Yl ulo v AsH ?

A) A Slsadl Ayl

B) S5 A A RéfAqAlY

(C) Sl5adl W A UsA ARALY

D) S5 A2, UsA AW A=A RefAALY

(14) Su-ll S5 u-l QU dit ddl Hiddl €l AR 3l usiRe

YlHiav] Augd ASq ?

Q) S5 A A RéfAaAlY

B) SEadl W A UsA ARALY
€) (A 24 B) o U4 48 28

D) U SEadl a1
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(15) ““Su-ll-l 2l usiz ol el ydmoreumi wlalilia i

87 - il [AdA S0 Aud s 8 7
A) <QE=s B) sass
(C) &lad i+ e D) dRe- 6]
(16) Hd worll ga Yl e3s w28l uidrA g ssaw ?
(A) AYSsd YR B) AHid u3dR
©) [Bre widar D) ARAA Y3dR

A7) «dl AsLL Aoedl Hi2 adiRiAL HAasdl ¥ A Y4 udR B a-

g ssa ?
A)  Blasi™s vidr B) RAYSd U3dR
(C©) AMid uidr D) Al widr

(18) %dl sl u3el [Aseu 9+ qudr e ed
(A) AL 3R B) ld widr
(C) Asd 3R O) &l widar

(19) R[a33 214 24 sHIR(L A [0214 21 6 uglidl 58 Y-l wid awelal

Hedl § 7
Q) Ssad 2yl B) UsA WYl
(C) G-l wd D) vl Yl suuell

20) S5adl elda-dl widr 2al ¢l widr sl 3l € © 7
(A) ay @) sl

©) Ax- D) LA
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2 ¥ VA 6L UL WHIRHL 8] adddl AldlRAler Ul suR(lelRl 9 15

dds  31.3.2014 -l A%+l s13 AAY NA WM e ¢

R wH | [Qad WA
qLe«l 3,60,000 | @RIEIRL 6,000
sy 1,80,000 | »fla Az 30,000
ifldlll uyReL gl 7,50,000
vl vidladl 45,000 | & ¥4l 3,00,000
uYRRL 3l 21,000
RCSICICEIL L] 27,000
sRur Al 7,500
R sowme(l 4,500
a1zl w3l 6,000
G W 60,000
galelRL 30,000
1§ AR 90,000
dirs (Q41) 75,000
oirs (tflet) 30,000
sfla vudl (81 oudl)  1,50,000

10,86,000 10,86,000
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Al Rotdl eadl @ di. 31-3-2014+1 A% YU Adi ad-L alls
[Buel duR s ¢

1) Y 4R Aw 6% dARI.
@) 3. 4,500 »flaadl ysda ¥ uYRRL WA vid Addd o,
(3) A8~ U 10% Ve S1%42R U 5% HARL ORI

@ s Ala WAl uyRL vl U2 3. 15,000 HAd d-l yHd
Rl 3AAHL 2Ad B,

(B) 2421 si1Hl eusl 3. 60,000 edl.

©6) ot~ cuolleRll Ydl 3:20 wHLRML sdl.

Yl

2 Adl{ler & 31.3.2014-0 A YU Adl ad-l 1A yaer Hilsdl 15

yl ul © ?

(o1 WA | Qo WA

IFY W 175,000 | 44 6.25,000

CETR] 4,00,000 | gl xHd (34) 1,75,000

e qald 57,500 | s4 4l 10,75,000

Hsld U HARL 77,500 | 2rfldl wdel

wafle uyReL WA Ass woll 9,82.500

vidlagl 1,25,000 | 4oUR sl ollsl 25,000

o5 i) 2,05,000 | 2fld A4l 1,50,000

o5 ifla) 150,000 | Rrus Gledied BulMan 75,000

SlY YR AL 25,000

gl 219 galelR) 2,10,000

sy 1,50,000

s+{l1R 2,25,000

HlesR 3,25,000
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aylu-l wlfedl
1) HeskR A s[4 10% auRL Hidlawl.

@) wAldl WAl vaa vzt 3. 50,000 oadl ei-ida sl [Bami

UM YL €.

(3  Aldl adl uyrRL vl U2 Hod 3. 40,000 v{ldlAl A3y

vild ¥HL AdE 9,
@) A s 3. 25,000
(B)  ad-ll ¥id 4L S 3. Rs. 1,25,000+ &dl
6) [RreuG GHedlR di. 1-4-2012 &l 281 ay H2 Al 2Udd &dl.

A5l 0L alls [Baled dur $2.

3 [uasy R s el AwHHL 8, ¥ weud Y B g Nsa 8 15

LUl A3 2 GUIR AARL 52 . Wil HAd As3 8y Yv iFuA
Hsa O, il vAl you 2iEd Ysd O, Al Hlsdl udl arl

uild, welld QiR wid A il e, vild duR s 7
dl. 1-4-14<{ euglail

s 3. 30,000; ALl 3. 7,500

sHaR 3. 75,000; Q2L A 3. 750

dl. 31-3-15<{ elLglail

s 3. 10,500; U2L As3 3. 300
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3

Qi 3 AxL AABIR) ¢

(1) WHL MSAD MU o oeeeeeeneeeenenns.. 3. 4,80,000
(2)  WHUR YA S MG o 3. 30,000
(3) SAULRNBL YA 53¢ MG ..oieiineineenennn... 3. 7,500
@ Al WYl HAQ ASS e 3. 1,20,000
(B)  BUIR QAL ..o, 3. 3,00,000
(6) U3 AABL oeeenee e 3. 5,10,000
(7) UL DUUA Q20 oo eeeeeieeeeeeneenensns 3. 750
(8) Ml AlE BIABUY ..o 3. 600

I TIREE]

Mg 3. 6,000 wolR 3. 18,000

dud A 3. 4,500 "2l As3 3. 1,050
w1l <l wHe | 3. 1,800

s+ U 20% ®ARL 2AR)

wYd)

HioRla ey iFd HRe(l arid Y., u 25% «sl el &L 15

H Hisdd 8. vl 190 %3 Bl A Yo © ¢

[Rotd (eudlai) dl. 1.4.14 dl. 31.3.15
s (edlul BHd)  1,80,000 1,44,000
vel As3 1,200 600
2alelR) 1,20,000 1,68,000
sHaR 60,000 54,000
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ey IEA Al Hisda AsY

M 3. 21,600 YaR 3. 75,000
59U 3. 24,000 #8Ad 3. 60,000
vel A5 Rs. 1,200

Q£ |Axl AR :

(1) e DsAe e (OB 3. 14,40,000
@) weu ud K@ e (LB L 3. 72,000
(3)  ASHDL UAA S ML oo 3. 36,000
@) AsH WAL HAA AES oo 3. 6,00,000
(B) 44 AABL ...\ttt 3. 18,96,000
(6)  BLEAMLY L.ttt 3. 12,000

GuASd HUsdl well ey H{FAAL AuH
(1) arl vugd
@)  wMld QU vl @A

(3) Wil AsivsAld vid dUR $3.

4 i widel [l wel qeldl. 10
wYql
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4 ds susdlal 100 sy ARl A3 AL v ollsdd &dl. 10

sus{lal ol sye WSl 50% s ol UElsra 2 ssloRaqsl
waH, Quid-l BHd $dl, 200% adii-dl Bud oedl Aival 219 olusl-l
3L SR Ui 53 AL WA ollsedl. 2L GuRid adRll wioA

yeidl qual Su-llai aniridl 25 <ol sy-lui ollseul.
-l oleell Aivia e 42l Aividl, AL s $A3 Guorll,

Bul ARl ~ladl e w33 M-l avil. wdHl siaqell

galdl.

5 &5 <lu aull : (519 ual 6) 10
1) ol a5l uResll
@2  Hiuddrd us@
) vl 33l sruell-l vadr

@  yorumi 38R,
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ENGLISH VERSION

Instructions : (1) Write answers of all the questions in main

answer sheet.

(2) Right hand side figures show marks of each

questions.
(3) Write working notes wherever necessary.

4) There are 20 M.C.Qs in Q.1 and all are

compulsory.

1 From the following M.C.Q. choose the correct answer and 20
write in main answer sheet.

(1) Krupa's capital is 3/4th of Kruti's capital and Kruti's capital
is 4/5th of Preetis capital. If Kruti's capital is Rs 1,20,000

then what will be the total capital of all the three partners?
(A) Rs. 2,40,000 (B) Rs. 3,60,000
(C) Rs. 4,80,000 (D) Rs. 6,00,000

(2) As per which method the books of accounts are maintained

by Dancer, Musicians and Actor ?
(A) Single Entry (B) Deshi Name

(C) Cash system (D) Mixed system
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(3) What will be the journal entry if fee recovered from amount

received in advance from clients ?

(A) Clients Advance A/c Dr. to Fees Alc
(B) Fees Alc. Dr. to Clients Advance Alc
(C) Bank A/c Dr. to Fee Alc

(D) Fees A/c Dr. to Bank Alc

(4) What will be the journal entry if the amount of Rs. 5,000
received from client for Sundry expenses wrongly recorded

in client's advance account ?

(A) Bank A/c Dr. 5000 to Client Advance A/c 5,000

(B) Bank A/c Dr. 5000 to Clients Sundry Exp. A/c 5000
(C) Client Sundry Exp. A/c Dr. 5000 to Bank A/c 5000

(D) Client Advance A/c Dr. 5000 to Client's Sundry

Exp. A/c 5000

(®) If the opening and closing balance of Petty Cash Alc is
respectively Rs. 1,000 and Rs. 1,600 and petty cash received
from head office is of Rs. 10,000, then what will be the amount

of Sundry Expense ?
(A) Rs. 7,400 (B) Rs. 8,400

(C) Rs. 9,400 D) Rs. 10,400
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6) In which account, the balancing figure of goods sent to
Branch A/c will be recorded ?

(A) Trading A/c Dr.
(B) Trading A/c Cr.
(C) Head Office A/c Cr.
(D) Debtor's Alc Cr.

(7) In whose account, adjustment entry of Goods in Transit is

not recorded ?

(A) Head office

(B) Branch

(C) In both the books
(D) Neither of the books

(8) Opening stock of branch is Rs. 50,000 cost of good sold is
Rs. 2,50,000 and closing stock is of Rs. 75,000. Find the

amount of goods received from head office.
(A) Rs. 2,25,000 (B) Rs. 2,75,000
(C) Rs. 3,25,000 D) Rs. 3,75,000

9 In a construction cost, materials and wages are in the ratio
of 5:3 whereas wages and overhead expenses are in the ratio
of 5:3. What will be the joint proportion of all the three

element of cost ?
A 9:15:25 B 15:9:25

©) 25:15:9 D 5:3:9
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(10) In which account, the balancing figure of replacement A/c will

be transferred ?

(A) Capital exp. Alc
(B) Revenue Alc
(C) Trading Alc

D) P&L Alc

(11) What will be the journal entry if the old materials consumed

in New Construction ?

(A) New asset Alc Dr to replacement Alc
(B) Replacement A/c Dr to New Asset Alc
(C) Revenue A/c Dr. to replacement Alc
(D) Bank A/c Dr. to New Asset Alc

(12) New cost of old asset =

(A) Old cost + Capital exp.

(B) Old cost + New cost

(C) Old cost + Increase in materials and labour cost
(D) None of these

(13) When there is high risk and less potential of fixed income
in business, what type of capital structure a company should

choose ?

(A) Only equity share capital

(B) Equity and debenture

(C) Equity and pref. share capital
(D) Equity, preference and debenture
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(14) If a company wishes to take the benefit of "Trading on
Equity" what type of capital structure a company should

choose ?

(A) Equity share + Debenture

(B) Equity share +Preference share

(C) Either of (A) or (B) above

(D) Only equity share capital

(15) "Decisions regarding types of securities issued are reflected
in capital structure of the company"”. This statement is given

by author.

(A) Hogland

(B) Kulshreshtha

(C) Haward and Apton

(D) Gestern Berg

(16) Cost of each element of total capital of capital structure is

known as
(A) dJoint cost (B) Marginal cost
(C) Specific cost (D) Average cost
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(17) Average cost of capital of additional fund required for New

Investment Project is known as

(A) Historical cost (B) Composite cost

(C) Marginal cost (D) Implicit cost

(18) Rate of return of an option forgone is known as :

(A) Average cost (B) Implicit cost

(C) Explicit cost (D) Future cost

(19) Dividend approach and earnings approach are the two methods

of calculating which cost of capital ?

(A) Equity capital

(B) Preference capital

(C) Borrowed capital

(D) Retained earnings

(20) How 1is the cost of equity as compared to cost of debt ?

(A) More B) Less

(C) Equal D) Zero
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2 A and B are the partners of a Solicitor Firm sharing profit 15

equally.
Trial Balance as on 31.3.2014

Particulars Amount | Particulars Amount
Vehicles 3,60,000 | Creditors 6,000
Computers 1,80,000 | Chient Advance 30,000
Client Sundry Exp. Fees 7,50,000
Ledger Alc 45,000 | Total capital 3,00,000
Sundry Exp. 21,000

E. journal subscribed 27,000

Courier charges 7,500

Stationary and

Printing exp. 4,500
Travelling Exp. 6,000
Office expense 60,000
Debtors 30,000
Staff salary 90,000
Bank (Firm) 75,000
Bank (client) 30,000
Client Alc.

(Fees O/s) 1,50,000

10,86,000 10,86,000

DQ-002-001212 ] 18 [ Contd...



From the following, prepare final accounts for the year ending

31.3.2014.
(1) Allow 6% interest on capital

2) Rs. 4,500 paid for clients are recorded in sundry

expense Alc.

(3) Provide 10% depreciation on vehicles and 5% on

computers.

4 Rs. 15,000 received from a client for sundry exp. are

included in Client Advance Alc.
(5) At the end of the year, incomplete work was of Rs. 60,000

(6) Capital of both the partners was in 3:2 ratio.

OR
2 Solicitor X provides following information for the year 15

ending 31.3.2014.
Particulars Amount Particulars Amount
Office expense 1,75,000 Capital 6,25,000
Building 400,000 | Fee. Reserve (1.4.2013)  1,75,000
Discount allowed 57,5600 Total fee 10,75,000
Depreciation on Bldg. 77,500 Cash received
Client sundry Expenses from client 9,82,500
Ledger Alc 1,25,000 Salary Ofs. 25,000
Bank (Office) 2,05,000 Client advance 1,50,000
Bank (Client) 1,560,000 Apprentice Prem. 75,000
Cash on hand 25,000
Debtor for fees 2,10,000
Computer 1,50,000
Furniture 2,25,000
Motor car 3,25,000
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Additional Information :

(1) Write off depreciation at 10% on motor car and furniture.

(2) Rs. 50,000 received in advance from clients is wrongly
included in fees.

(3) Rs. 40,000 received from client as Sundry expenses are
credited to Client Advance Alc.

(4) Stationary stock was of Rs. 25,000

(5) At the end of the year, incomplete work was of Rs. 1,25,000

(6) An apprentice was enrolled on 1.4.2012 for 3 years

Shivam stores has a branch in Rajkot. It sends goods at

cost price. Branch sells goods on cash and credit basis. Branch
deposits cash every day in H.O. A/c. Branch expenditures are

paid by H.O.

From the following information, prepare branch A/c, branch

trading A/c and branch P&L Alc.

Balances as on 1.4.14 31.3.15
Stock 30,000 10,500
Petty cash 750 300
Furniture 75,000 ?
Debtors 7,500 ?

15
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Transactions during the year

(1) Goods sent to Branch .................... Rs. 4,80,000

(2) Goods returned by branch ............... Rs. 30,000

3) Goods returned by debtors.................

(4) Cash received from debtors .................

(5) Sales on credit.........ccooeeveiinneennnnnn. Rs. 3,00,000

6) Cash sales.....cccoooeeviiiiiiiiiiiiieiiaann. Rs. 5,10,000

(7) Discount allowed to debtors.................

(8 Bad debt written off .............................

(9) Branch expenditures

Rent Rs. 6,000 ...................... Salary Rs. 18,000

Advertisement Exp. Rs. 4,500

Petty cash Rs. 1,050

(10) Goods destroyed in fire Rs. 1,800

(11) Calculate depreciation @ 20% on furniture.

OR
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3

Mangrol head office sends goods to its Morbi Branch at 15
Invoice price after adding 25% profit on cost price. Provides
following information.

Balances as on 1.4.14 31.3.15

Stock at Invoice 1,80,000 1,44,000

Petty cash 1,200 600

Debtors 1,20,000 1,68,000

Furniture 60,000 54,000
Cash sent by Mangrol H.O.
Rent Rs. 21,600
Salary Rs. 75,000
Taxes Rs. 24,000
Advertisement Rs. 60,000
Petty cash Rs. 1,200
Transactions during the year :
(1) Good sent to Branch at Invoice ................... Rs. 14,40,000
(2) Goods returned by Branch at Invoice .............. Rs. 72,000
3) Goods returned by customers .............cccccoeeennnn.... Rs 36,000
(4) Cash received from customers......................... Rs. 6,00,000
(B) Total sales ........oouuveeeeeiiiiiiiiieeeee e, Rs. 18,96,000
(6) Bad Debt ..o Rs. 12,000

From the above prepare branch A/c, branch

trading A/c and branch P&L A/c in H.O. books.
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4  Explain in brief the various concepts of cost of capital. 10
OR
4 A company had earlier installed 100 computer systems 10

at a cost of three crore rupees. 50% of these computer systems
with old configuration replaced at an additional cost of 200%
and remaining 50% computer system replaced at a cost of
five crore rupees. Besides this, to reach the additional
demand of service company decided to install new 25 computer

systems.

One crore rupees realized by selling old computer system.
Pass the journal entries in the books of the company and

prepare a statement of expenditure allocation.

5 Write short note on : (any two) 10
(1) Factors affecting capital structure
(2) Importance of Cost of Capital
(3) Cost of Retained Earnings

(4) Alteration of capital structure.
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